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A 1430 kg car is initially at rest on level ground when the engine
does 380 000 J of work on it.

a. If all of the work is converted into kinetic energy, what is the
final speed of the car?

b. After the car reaches its top speed, the engine cuts out and
the car begins to roll up a hill. If the car continues to roll until all
of its kinetic energy has been converted into potential, what final
height will it reach?

c. If the hill in part b. had been steeper, how would it affect the
final height of the car?
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